
ASSEMBLY INSTRUCTIONS 

for convertible crib 

PHOENIX 4 IN 1 CONVERTIBLE CRIB

Model #10611 

GUARDRAIL and CONVERSION KIT sold separately. 

Please contact retailer 

THIS PRODUCT CONFORMS TO THE APPLICABLE SECTION OF PUBLIC LAW 110-314 

AND COMPLIES WITH THE REQUIREMENTS STATED IN 16 CFR 1219 AND 16 CFR 

1217 (WHEN PHOENIX GUARDRAIL 15 USED).

40-10611-V-01 1 of 5 



Thank you for your purchase! 
Remove all parts and hardware from the box and lay on a carpeted or scratch -free work surface. 

Do not dispose of any contents until assembly is completed. 

Familiarize yourself with all exhibits and diagrams to facilitate the assembly of your crib. 

TOOLS REQUIRED: 

ALLEN KEY (Included) 

PARTS ENCLOSED IN CARTON 

A. Head Board (1 pc)

. / ·· .. 

.. ··I 

.. ·· 

.. ·· .. · 

I··
·· 

··. 

I ·· .. 

I . ·· ..

/ 
·· .. 

/I 

..·· 

.. ·· .. · 

.. ·· 
.. ·· 

··. 

I ·· .. 

I 
. 

·· .. 

B. Foot Board (1 pc)

(F) Allenbolt 2 1/2"(65 mm) (4 pcs)

(G) Allenbolt 2 3/4"(70 mm) (4 pcs)

(H) Allenbolt 2"(50 mm) (4 pcs)

(K) Allenbolt 1 "(25mm) (4 pcs)

� 

C. Side Board (2 pcs)

1
1111 1111 

Iii i 
111 1111 11

1
1 

D. Stabilizer Bar (1 pc)

E. Mattress Spring (1 pc)

HARDWARE 

(W) Spring washer (16 pcs)

C 
(L) Nut 3/4" (20mm) (8 pcs)

(M) Barrel Nut (4 pcs)

f oil 
(N) Allen key (2 pcs) (length may vary)

Do not fully tighten all bolts until all parts are in place. 

I 

(please add an extra 1/2 revolution to the bolts when using spring washer after tightening) 

40-10611-V-01 2 of 5 



STEP 1 11 ASSEMBLY OF CRIB SIDES" 

THIS STEP REQUIRES 

A.Head Board (1 pc) F. Allenbolt 2 1/2"(65 mm) (4 pcs)
C.Side Board (2 pcs)
D.Stabilizer Bar (1 pc)
N.Allen key (2 pcs)

-_ 

STEP 1.1 

w 

STEP 1.1 

M. Barrel Nut (4 pcs)

f oil 

I 

/�1 
c/@�

G. Allenbolt 2 3/4"(70 mm) (4 pcs)

W. Spring washer (8 pcs)

C 

STEP 1.2 

- Insert Allenbolt 2 1/2"(65mm)(F), Spring washer (W) through the top and bottom holes in headboard from
the back side. 
- Insert Nut 3/4" (20mm) (L) through the top and bottom holes in Sideboard and connect to the Headboard.
Hand tighten only! 
-Repeat STEP 1.1 for other Sideboard.
STEP 1.2 
- Insert Barrel nut (M) into holes in Stabilizer Bar.
- Connect Stabilizer Bar to the Sideboard using (4 pcs) Allenbolt 2 3/4" (70 mm)(G), Spring Washer (W).
- Tighten all Bolts with Allenkey (N).

40-10611-V-01 3 of 5 

rt=J 
L. Nut 3/4" (20mm) (4 pcs)



THIS STEP REQUIRES: 

E. Mattress Spring (1 pc) 
N.Allenkey (2 pcs)

STEP 2 11 SPRING INSTALLATION 
11 

K. Allenbolt 1"(25mm) (4 pcs)

L. Nut 3/4" (20mm) (4 pcs) W.Spring Washer (4 pcs)

FACE 

TOP 

- Attach Mattress spring (E) to Side board as shown in FIG.2.
- Secure with Allenkey (N).
- See FIG.3. for height adjustment
- Make sure the Mattress Spring is leveled after assembly.

40-10611-V-01 4 of 5 

FIG.2. 

FIG.3. 

L 

C 

Lowest 
position 

Middle 
position 

Lowest 
position 



THIS STEP REQUIRES: 

B. Footboard (1 pc)

N. Allen key (1 pc)

STEP 3 11 ASSEMBLY OF FOOTBOARD 11 

H. Allenbolt 2"(50 mm) (4 pcs) W. Spring washer (4 pcs)

C 

II ]I 

- Insert Allenbolt 2" [50mm] (H), Spring Washer (w) through the holes in Sideboard

into the threaded holes in Footboard (B).

- Tighten all Bolts, Nuts with Allen key(N). Assembly Complete. Thank You!

40-10611-V-01 5 of 5 







ASSEMBLY INSTRUCTIONS 

for toddler bed 

PHOENIX 4 IN 1 CONVERTIBLE CRIB 

Model #10611 

GUARDRAIL and CONVERSION KIT sold separately. 

Please contact retailer. 

40-10611-V-01



STEP 1 "UNINSTALL FOOTBOARD" 

THIS STEP REQUIRES: 

Allen key (1 pc) 

FIG. 1. 

- Remove the Footboard by unscrewing (4 pcs) Allenbolts as shown in FIG. 1.

40-10611-V-01



STEP 2 11 MATTRESS SUPPORT HEIGHT ADJUSTMENT 
11 

THIS STEP REQUIRES: 

These hardware are included in the CRIB 

N. Allen key (2 pcs)

K. Allenbolt 1 "(25mm) (4 pcs) L. Nut 3/4" (20mm) (4 pcs) W. Spring washer (4 pcs)

C 

FIG.3. 

Lowest 

position 

- Remove the Allenbolt 1 "(25 mm) (K) Spring Washer (w) and Nut 3/4"(20 mm)(L) on

the Mattress spring.

- Move Mattress spring to the lowest position as shown in FIG.2.

- Attach the Allenbolt 1 "(25 mm)(K), Spring washer (w) and Nut 3/4"(20 mm)(L) on the

lowest hole of Sideboard.

-Final position as shown in FIG.3.

40-10611-V-01






	c-1.pdf
	c-2.pdf
	c-3.pdf
	c-4.pdf
	c-5.pdf
	c-6.pdf
	c-7.pdf
	c-8.pdf
	C-1.pdf
	C-2.pdf
	C-3.pdf
	C-4.pdf
	C-5.pdf
	C-6.pdf
	C-7.pdf
	C-8.pdf
	c_1e
	c_2e
	c_3e
	c_4e
	c_5e
	c_6e
	c_7e
	c_8e
	WARNING CRIB__E.pdf
	c_1e
	c_2e
	c_3e
	c_4e
	c_5e
	c_6e
	c_7e
	c_8e
	CRIB WARNING _3.pdf
	21011- crib- Eng1
	21011- crib- Eng2
	21011- crib- Eng3
	21011- crib- Eng4
	21011- crib- Eng5
	21011- crib- Eng6
	21011- crib- Eng7
	21011- crib- Eng8
	21011- crib- Eng9
	21011- crib- Eng10
	21011- crib- Eng11
	21011- crib- Eng12
	21011- crib- Eng13


	c_1e
	c_2e
	c_3e
	c_4e
	c_5e
	c_6e
	c_7e
	c_8e
	WARNING CRIB__E.pdf
	c_1e
	c_2e
	c_3e
	c_4e
	c_5e
	c_6e
	c_7e
	c_8e
	CRIB WARNING _3.pdf
	21011- crib- Eng1
	21011- crib- Eng2
	21011- crib- Eng3
	21011- crib- Eng4
	21011- crib- Eng5
	21011- crib- Eng6
	21011- crib- Eng7
	21011- crib- Eng8
	21011- crib- Eng9
	21011- crib- Eng10
	21011- crib- Eng11
	21011- crib- Eng12
	21011- crib- Eng13


	C-1.pdf
	C-2.pdf
	C-3.pdf
	C-4.pdf
	C-5.pdf
	C-6.pdf
	C-7.pdf
	C-8.pdf
	c_1e
	c_2e
	c_3e
	c_4e
	c_5e
	c_6e
	c_7e
	c_8e
	WARNING CRIB__E.pdf
	c_1e
	c_2e
	c_3e
	c_4e
	c_5e
	c_6e
	c_7e
	c_8e
	CRIB WARNING _3.pdf
	21011- crib- Eng1
	21011- crib- Eng2
	21011- crib- Eng3
	21011- crib- Eng4
	21011- crib- Eng5
	21011- crib- Eng6
	21011- crib- Eng7
	21011- crib- Eng8
	21011- crib- Eng9
	21011- crib- Eng10
	21011- crib- Eng11
	21011- crib- Eng12
	21011- crib- Eng13


	c_1e
	c_2e
	c_3e
	c_4e
	c_5e
	c_6e
	c_7e
	c_8e
	WARNING CRIB__E.pdf
	c_1e
	c_2e
	c_3e
	c_4e
	c_5e
	c_6e
	c_7e
	c_8e
	CRIB WARNING _3.pdf
	21011- crib- Eng1
	21011- crib- Eng2
	21011- crib- Eng3
	21011- crib- Eng4
	21011- crib- Eng5
	21011- crib- Eng6
	21011- crib- Eng7
	21011- crib- Eng8
	21011- crib- Eng9
	21011- crib- Eng10
	21011- crib- Eng11
	21011- crib- Eng12
	21011- crib- Eng13





